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Leveling (2 Pts. Each)

(1a)
What does the term elevation mean?


Elevation is vertical distance above or below datum.

(1b)
What is the purpose of running levels?



Determine elevation of features.

(1c)
What is the purpose of waving the rod?  Which rod reading should be recorded – the highest or lowest?


Accuracy/Lowest


(1d)
What is the purpose of equalizing BS and FS distance?


+/- Sights to transfer elevations

(1e)
What is meant by level circuit and arithmetic check?


Loop/Closure for accuracy

(2)
Convert the following: (5 Pts. Each)


    DMS


        D.D.


22° 37’ 48”


        22.63


              57-19-12   


      57.32°




173° 18’ 22”


     173.306    



              63-59-24       

     
       63.99°
(3)
Given the following survey point coordinates, find the bearing and distance from point 1 - 2. (10 Pts. Each)



                     N



         E

(a)
1
10000.0000


10000.0000

2
10000.8924


10000.4467






S 26-35-27 E






     0.9980’


(b)
1
  5000.0000


  5000.0000



2
  5732.8500


  5142.3280






N 10-59-24 E






     746.543

(4)
If the perimeter of a traverse is 35,452 feet, what is the relative error of closure for 3a (above) coordinates if they represent the ending and beginning points? (5 Pts.) 






1:35,523

(5)
Determine the bearing and distance between traverse points and determine from the coordinates the area in acres.  (20 Pts.)



     N


     E


(1)
5000.00

5000.00

N 4-0-1 E    

250.00


(2)
5249.39

5017.44

S 78-28-52 W

520.00


(3)
5145.55

4507.91

S 14-59-55 W

452.33


(4)
4708.63

4624.98

S 84-0-03 W

350.01


(5)
4672.05

4973.07

N 4-4-39 E

329.05


(1)
5000.00

5000.00


     5.03 Acres

(6)
Determine latitude and departures, error of closure, adjusted bearings and distance by compass rule and area in acres of the following traverse data. (25 Pts.)


(1)
N 22° 15 E

  750.25’


(2)
S 80° 30 W

  962.58’


(3)
S 10° 15 E

  732.52’


(4)
S 35° 30 W

  872.45’

(5) S 80° 13 W

  915.23’

(6) S 82° 10 W

  113.25’

(7) N 50° 15 W

  700.13’

(8) N 66° 20 E

1242.45’

(9) N 85° 16 E 

1462.11’

UNADJUSTED


1





5000.0000
5000.0000



N 22-15 E
750.25


2





5694.3868
5284.0811



S 80-30 W  
962.58


3





5535.5152
4334.7023



S 10-15 E
732.52


4





4814.6857
4465.0495



S 35-30 W
872.45


5





4104.4107
3958.4152



S 80-13 W
915.23


6





3948.8922
3056.4951



S 82-10 W
113.25


7





3933.4571
2944.3091



N 50-15 W
700.13


8





4381.1475
2406.0126



N 66-20 E
1242.45


9





4879.8856
3543.9680



N 85-16 E
1462.11


10





5000.5365
5001.0915


1




Error of Closure
=
1.2169’




             Precision 
=
1:6373

ADJUSTED


1





5000.0000
5000.0000



N 22-14-39 E

750.16


2





5694.3349
5283.9754



S 80-29-51 W

962.72



3





5535.3967
4334.4611



S 10-14-29 E

732.55


4





4814.5165
4464.7052



S 35-30-15 W

872.57


5





4104.1810
3957.9480



S 80-12-51 W

915.37


6





3948.5992
3055.8990



S 82-09-50 W

113.27


7





3933.1563
2943.6898



N 50-15-30 W

200.17


8





4380.7983
2405.3020



N 66-20-01 E

1242.26


9





4879.4503
3543.0824



N 85-16-12 E

1461.90


10





5000.0000
5000.0000

 






Acreage = 17.30571
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